
Thank you for purchasing our
Cresco 20 Assembly 
Instructions Assembled

We’re delighted to have you as a customer 
and are here to help! First off, let’s get your 
product assembled!

   Table of Contents:
 
1: Spare Parts
2-4: Assembling your Cresco 20



1

Spare Parts

Em
pt

y 
al

l c
on

te
nt

s 
of

 th
e 

bo
x 

on
to

 a
 fl

at
 s

ur
fa

ce
 

an
d 

co
un

t p
ar

ts
 to

 m
ak

e 
su

re
 a

ll 
ar

e 
th

er
e.

Be
fo

re
 yo

u 
st

ar
t, 

de
cid

e w
ha

t y
ou

 w
ou

ld 
lik

e t
o u

se
 th

e s
pr

ea
de

r 
fo

r. 
If 

yo
u 

ar
e s

pr
ea

di
ng

 sa
lt,

 p
lea

se
 u

se
 th

e l
ar

ge
 ap

pli
ca

tio
n 

sli
de

r 
pi

ct
ur

es
 ab

ov
e. 

If 
yo

u 
ar

e u
sin

g t
he

 sp
re

ad
er

 to
 ap

ply
 fe

rti
liz

er
, 

ple
as

e u
se

 th
e s

lid
er

 w
ith

 th
e t

hr
ee

 h
ole

s. 

Av
an

t d
e c

om
m

en
ce

r, 
dé

cid
ez

 de
 l’u

til
isa

tio
n q

ue
 vo

us
 so

uh
ait

ez
 

fa
ire

 de
 l’é

pa
nd

eu
r. 

Si 
vo

us
 ré

pa
nd

ez
 du

 se
l, v

eu
ille

z u
til

ise
r l

e g
ra

nd
 

cu
rs

eu
r d

’ap
pli

ca
tio

n i
llu

str
é c

i-d
es

su
s. 

Si 
vo

us
 ut

ilis
ez

 l’é
pa

nd
eu

r 
po

ur
 ap

pli
qu

er
 de

 l’e
ng

ra
is,

 ve
uil

lez
 ut

ilis
er

 le
 cu

rs
eu

r a
ve

c l
es

 tr
ois

 
tro

us
.

Be
vo

r S
ie 

be
gi

nn
en

, e
nt

sc
he

id
en

 Si
e, 

wo
fü

r S
ie 

de
n 

St
re

ue
r 

ve
rw

en
de

n 
m

öc
ht

en
. W

en
n 

Si
e S

alz
 st

re
ue

n, 
ve

rw
en

de
n 

Si
e b

itt
e 

de
n 

ob
en

 ab
ge

bi
lde

te
n 

gr
oß

en
 An

we
nd

un
gs

sc
hi

eb
er

. W
en

n 
Si

e d
en

 
St

re
ue

r z
um

 Au
ftr

ag
en

 vo
n 

Dü
ng

er
 ve

rw
en

de
n, 

ve
rw

en
de

n 
Si

e b
itt

e 
de

n 
Sc

hi
eb

er
 m

it 
de

n 
dr

ei 
Lö

ch
er

n.

Vo
or

da
t u

 b
eg

in
t, 

be
sli

st
 u

 w
aa

rv
oo

r u
 d

e s
tro

oi
er

 w
ilt

 ge
br

ui
ke

n. 
Als

 
u 

zo
ut

 st
ro

oi
t, 

ge
br

ui
k d

an
 d

e g
ro

te
 ap

pli
ca

tie
sc

hu
if 

di
e h

ier
bo

ve
n 

is 
af

ge
be

eld
. A

ls 
u 

de
 st

ro
oi

er
 ge

br
ui

kt
 om

 m
es

ts
to

f t
oe

 te
 p

as
se

n, 
ge

br
ui

k d
an

 d
e s

ch
ui

f m
et

 d
e d

rie
 ga

te
n.

UK FR D NL

An
te

s d
e c

om
eç

ar
, d

ec
id

a p
ar

a q
ue

 p
re

te
nd

e u
sa

r o
 es

pa
lha

do
r. 

Se
 es

tiv
er

 a 
es

pa
lha

r s
al,

 u
til

ize
 o 

re
gu

lad
or

 d
e a

pli
ca

çã
o g

ra
nd

e 
ilu

st
ra

do
 ac

im
a. 

Se
 es

tiv
er

 a 
us

ar
 o 

es
pa

lha
do

r p
ar

a a
pli

ca
r 

fe
rti

liz
an

te
, u

til
ize

 o 
re

gu
lad

or
 co

m
 os

 tr
ês

 fu
ro

s.

An
te

s d
e e

m
pe

za
r, 

de
cid

a p
ar

a q
ué

 q
ui

er
e u

til
iza

r e
l e

sp
ar

cid
or

. 
Si

 va
 a 

es
pa

rc
ir 

sa
l, u

til
ice

 el
 d

es
liz

ad
or

 d
e a

pli
ca

ció
n 

gr
an

de
 

qu
e s

e m
ue

st
ra

 ar
rib

a. 
Si

 va
 a 

ut
iliz

ar
 el

 es
pa

rc
id

or
 p

ar
a a

pli
ca

r 
fe

rti
liz

an
te

, u
til

ice
 el

 d
es

liz
ad

or
 co

n 
los

 tr
es

 ag
uj

er
os

.

Pr
im

a d
i i

ni
zia

re
, d

ec
id

i a
 co

sa
 vu

oi
 u

sa
re

 lo
 sp

an
di

co
nc

im
e. 

Se
 st

ai 
sp

ar
ge

nd
o s

ale
, u

til
izz

a i
l c

ur
so

re
 d

i a
pp

lic
az

io
ne

 gr
an

de
 m

os
tra

to
 

so
pr

a. 
Se

 u
til

izz
i lo

 sp
an

di
co

nc
im

e p
er

 ap
pli

ca
re

 fe
rti

liz
za

nt
e, 

us
a i

l 
cu

rs
or

e c
on

 i t
re

 fo
ri.

En
ne

n 
alo

itt
am

ist
a p

ää
tä

, m
ih

in
 h

alu
at

 kä
yt

tä
ä l

ev
iti

nt
ä. 

Jo
s l

ev
itä

t 
su

ola
a, 

kä
yt

ä y
läp

uo
lel

la 
ole

va
a s

uu
rta

 so
ve

llu
ks

en
 liu

ku
sä

äd
in

tä
. 

Jo
s k

äy
tä

t l
ev

iti
nt

ä l
an

no
itt

ee
n 

lev
itt

äm
ise

en
, k

äy
tä

 liu
ku

sä
äd

in
tä

, 
jos

sa
 on

 ko
lm

e r
eik

ää
.

P E I FIN

 In
na

n 
du

 b
ör

jar
, b

es
tä

m
 va

d 
du

 vi
ll a

nv
än

da
 sp

rid
ar

en
 ti

ll. 
Om

 d
u 

sp
rid

er
 sa

lt,
 an

vä
nd

 d
en

 st
or

a a
pp

lik
at

io
ns

re
gla

ge
t s

om
 vi

sa
s o

va
n. 

Om
 d

u 
an

vä
nd

er
 sp

rid
ar

en
 fö

r a
tt 

ap
pli

ce
ra

 gö
ds

el,
 an

vä
nd

 re
gla

ge
t 

m
ed

 d
e t

re
 h

åle
n.

Fø
r d

u 
st

ar
te

r, 
be

st
em

 hv
a d

u 
vil

 b
ru

ke
 sp

re
de

re
n 

til
. H

vis
 d

u 
sp

re
r 

sa
lt,

 b
ru

k d
en

 st
or

e a
pp

lik
as

jon
ss

ky
ve

re
n 

so
m

 er
 av

bi
lde

t o
ve

nf
or

. 
Hv

is 
du

 b
ru

ke
r s

pr
ed

er
en

 ti
l å

 p
åf

ør
e gj

ød
se

l, b
ru

k s
ky

ve
re

n 
m

ed
 

de
 tr

e h
ull

en
e.

Fø
r d

u 
st

ar
te

r, 
sk

al 
du

 b
es

lut
te

, h
va

d 
du

 vi
l b

ru
ge

 sp
re

de
re

n 
til

. H
vis

 
du

 sp
re

de
r s

alt
, s

ka
l d

u 
br

ug
e d

en
 st

or
e a

pp
lik

at
io

ns
sk

yd
er

, d
er

 er
 

vis
t o

ve
nf

or
. H

vis
 d

u 
br

ug
er

 sp
re

de
re

n 
til

 at
 p

åf
ør

e g
ød

ni
ng

, s
ka

l d
u 

br
ug

e s
ky

de
re

n 
m

ed
 d

e t
re

 h
ull

er
.

Pr
ed

tý
m

, a
ko

 za
čn

et
e, 

ro
zh

od
ni

te
 sa

, n
a č

o c
hc

et
e r

oz
m

et
ač

 
po

už
iť.

 Ak
 ro

zm
et

át
e s

oľ
, p

ou
žit

e p
ro

sím
 ve

ľk
ý a

pli
ka

čn
ý p

os
uv

ník
 

uv
ed

en
ý v

yš
šie

. A
k p

ou
žív

at
e r

oz
m

et
ač

 n
a a

pli
ká

ciu
 h

no
jiv

a, 
po

už
ite

 
po

su
vn

ík 
s t

ro
m

i o
tv

or
m

i.

S N DK SK

Pr
ed

en
 za

čn
et

e, 
se

 od
loč

ite
, z

a k
aj 

že
lit

e u
po

ra
bi

ti 
tro

sil
ni

k. 
Če

 
tro

sit
e s

ol,
 u

po
ra

bi
te

 ve
lik

 d
rs

ni
k z

a n
an

aš
an

je,
 p

rik
az

an
 zg

or
aj.

 Č
e 

up
or

ab
lja

te
 tr

os
iln

ik 
za

 n
an

aš
an

je 
gn

oji
la,

 u
po

ra
bi

te
 d

rs
ni

k s
 tr

em
i 

luk
nj

am
i.

Za
ni

m
 za

cz
ni

es
z, 

zd
ec

yd
uj

, d
o c

ze
go

 ch
ce

sz
 u

ży
ć r

oz
sie

wa
cz

a. 
Je

śli
 

ro
zs

iew
as

z s
ól,

 u
ży

j d
uż

eg
o s

uw
ak

a a
pli

ka
cy

jn
eg

o p
rz

ed
st

aw
io

ne
go

 
po

wy
że

j. J
eś

li u
ży

wa
sz

 ro
zs

iew
ac

za
 d

o a
pli

ka
cji

 n
aw

oz
u, 

uż
yj 

su
wa

ka
 z 

trz
em

a o
tw

or
am

i.

Mi
elő

tt 
elk

ez
de

né
, d

ön
ts

e e
l, m

ire
 sz

er
et

né
 h

as
zn

áln
i a

 sz
ór

ót
. H

a 
só

t s
zó

r, 
ké

rjü
k, 

ha
sz

ná
lja

 a 
fe

nt
 lá

th
at

ó n
ag

y a
lka

lm
az

ás
i c

sú
sz

ká
t. 

Ha
 a 

sz
ór

ót
 m

űt
rá

gy
a k

iju
tta

tá
sá

ra
 h

as
zn

álj
a, 

ké
rjü

k, 
ha

sz
ná

lja
 a 

há
ro

m
 ly

uk
ú 

cs
ús

zk
át

.

Ne
ž z

ač
ne

te
, r

oz
ho

dn
ět

e s
e, 

k č
em

u 
ch

ce
te

 ro
zm

et
ač

 p
ou

žít
. P

ok
ud

 
ro

zm
et

át
e s

ůl,
 p

ou
žij

te
 p

ro
sím

 ve
lký

 ap
lik

ač
ní 

po
su

vn
ík 

zo
br

az
en

ý 
vý

še
. P

ok
ud

 p
ou

žív
át

e r
oz

m
et

ač
 k 

ap
lik

ac
i h

no
jiv

a, 
po

už
ijt

e 
po

su
vn

ík 
se

 tř
em

i o
tv

or
y.

SL
O PL H CZ

Pièces de rechange | Ersatzteile | Reserveonderdelen | Peças de reposição | Piezas de repuesto | Parti di ricambio | Varaosat | 
Reservdelar | Reservedeler | Reservedele | Náhradné diely | Nadomestni deli | Części zamienne | Alkatrészek | Náhradní díly



2

Assembling your Cresco 20

Align the holes at the bottom of the handle bar (item 2) 
with the holes at the top of the lower frame (item 15). 
You may need to pull the ends apart slightly to place in 
position. 

Thread the M6x35 bolt (12) through the hole of the 
handle bar (item 2) and lower frame (item 15). Use the M6 
wingnut (13) to tighten. Repeat on both sides.

1 2

Protruding from the back of the hopper body (item 17) is 
a V-shaped metal (pivot bracket) (item 21). Clip the pivot 
bracket end of the control rod (item 16) into the hole on 
the V-shaped metal. 

3

Feed the other end of the control rod (item 16) through 
the hole at the back of the control lever (item 18). Make 
sure you push the lever all the way to the bottom. 

4

Tighten the control rod.

6

Before tightening the control rod. Make sure the 
application holes in the hopper are fully open and the 
control lever is set at 20. 

5

Winter Slider

Summer Slider



3

Assembling your Cresco 20 | How to swap over the Cresco Sliders

The slider should be secure and sit level underneath 
the hopper. It should slide smoothly in and out of the 
groves.

5

Push the bottom end of the pivot rod (22) into the hole 
at the top of the slider and secure with the R-pin (24).

6

When you have removed the slider (20 or 23) you no 
longer wish to use, find the alternative slider and push 
it into the groves on the bottom of the hopper (17). (The 
Summer Slider is pictured here).

4

Push the top of the pivot bracket (21) so the slider (20 or 
23) is pushed back and the pivot rod (22) is loosened.

2

Remove the pivot rod (22) by pushing the tip through 
the hole at the top of the slider. When the pivot rod is 
removed, remove the slider (20 or 23).

3

Locate the R-pin that helps hold the slider in place on 
the underside of the slider. Remove the R-pin (24). 

1



4

Assemblage de votre Cresco 20

Alignez les trous en bas du guidon (élément 2) avec 
les trous en haut du cadre inférieur (élément 15). Vous 
devrez peut-être écarter légèrement les extrémités 
pour les mettre en position.

Insérez le boulon M6x35 (12) à travers le trou du guidon 
(élément 2) et du cadre inférieur (élément 15). Utilisez 
l’écrou à ailettes M6 (13) pour serrer. Répétez de l’autre 
côté.

1 2

À l’arrière du corps de la trémie (élément 17), un métal en 
forme de V (support pivot) (élément 21) dépasse. Clippez 
l’extrémité du support pivot de la tige de commande 
(élément 16) dans le trou du métal en forme de V.

3

Insérez l’autre extrémité de la tige de commande 
(élément 16) dans le trou à l’arrière du levier de 
commande (élément 18). Assurez-vous de pousser le 
levier jusqu’en bas.

4

Serrez la tige de commande.

6

Avant de serrer la tige de commande, assurez-vous que 
les trous d’application de la trémie sont complètement 
ouverts et que le levier de commande est réglé sur 20.

5

Curseur d’hiver

Curseur d’été

FR



5

Assemblage de votre Cresco 20 | Comment changer les sliders Cresco

Le curseur doit être fixé et placé à niveau sous la 
trémie. Il doit glisser en douceur dans et hors des 
rainures.

5

Une fois que vous avez retiré le curseur (20 ou 23) 
que vous ne souhaitez plus utiliser, trouvez le curseur 
alternatif et poussez-le dans les rainures situées au bas 
de la trémie (17). (Le curseur d’été est illustré ici).

4

Poussez l’extrémité inférieure de la tige de pivot (22) 
dans le trou en haut du curseur et fixez-la avec la 
goupille en R (24).

6

Poussez le haut du support de pivot (21) de manière à ce 
que le curseur (20 ou 23) soit repoussé et que la tige de 
pivot (22) soit desserrée.

2

Retirez la tige de pivot (22) en poussant la pointe à 
travers le trou en haut du curseur. Lorsque la tige de 
pivot est retirée, retirez le curseur (20 ou 23).

3

Localisez la goupille en R qui maintient le curseur en 
place sous le curseur. Retirez la goupille en R (24).

1



6

Montage Ihres Cresco 20

Richten Sie die Löcher am unteren Ende des Lenkers 
(Teil 2) mit den Löchern am oberen Ende des unteren 
Rahmens (Teil 15) aus. Möglicherweise müssen Sie die 
Enden leicht auseinanderziehen, um sie in Position zu 
bringen.

Führen Sie die M6x35-Schraube (12) durch das Loch 
des Lenkers (Teil 2) und des unteren Rahmens (Teil 15). 
Verwenden Sie die M6-Flügelmutter (13) zum Festziehen. 
Wiederholen Sie dies auf beiden Seiten.

i 2

Vom hinteren Teil des Trichterkörpers (Teil 17) ragt ein 
V-förmiges Metall (Schwenkhalterung) (Teil 21) hervor. 
Befestigen Sie das Ende der Schwenkhalterung der 
Steuerstange (Teil 16) im Loch des V-förmigen Metalls.

3

Führen Sie das andere Ende der Steuerstange (Teil 16) 
durch das Loch auf der Rückseite des Steuerhebels (Teil 
18). Stellen Sie sicher, dass Sie den Hebel ganz nach 
unten drücken.

4

Ziehen Sie die Steuerstange fest. 

6

Bevor Sie die Steuerstange festziehen, stellen Sie 
sicher, dass die Anwendungsöffnungen im Trichter 
vollständig geöffnet sind und der Steuerhebel auf 20 
eingestellt ist.

5

Winter-Schieber

Sommer-Schieber

D



7

Montage Ihres Cresco 20 | So wechseln Sie die Cresco-Schieber

Der Schieber sollte sicher und eben unter dem Trichter 
sitzen. Er sollte problemlos in die Nuten hinein- und 
herausgleiten.

5

Wenn Sie den Schieber (20 oder 23) entfernt haben, den 
Sie nicht mehr verwenden möchten, suchen Sie den 
alternativen Schieber und drücken Sie ihn in die Rillen 
unten am Trichter (17). (Der Sommerschieber ist hier 
abgebildet).

4

Schieben Sie das untere Ende der Schwenkstange (22) 
in das Loch oben am Schieber und sichern Sie es mit 
dem R-Stift (24).

6

Drücken Sie die Oberseite der Drehhalterung (21), 
sodass der Schieber (20 oder 23) zurückgeschoben und 
die Drehstange (22) gelöst wird.

2

Entfernen Sie die Schwenkstange (22), indem Sie die 
Spitze durch das Loch am oberen Ende des Schiebers 
drücken. Wenn die Schwenkstange entfernt ist, 
entfernen Sie den Schieber (20 oder 23).

3

Suchen Sie den R-Pin, der hilft, den Schieber an 
der Unterseite des Schiebers in Position zu halten. 
Entfernen Sie den R-Pin (24).

1



8

Het monteren van uw Cresco 20

Lijn de gaten aan de onderkant van het stuur (item 2) 
uit met de gaten aan de bovenkant van het onderframe 
(item 15). U moet mogelijk de uiteinden iets uit elkaar 
trekken om ze in positie te brengen.

Steek de M6x35-bout (12) door het gat van het stuur 
(item 2) en het onderframe (item 15). Gebruik de M6-
vleugelmoer (13) om vast te draaien. Herhaal aan beide 
zijden.

1 2

Aan de achterkant van het baklichaam (item 17) steekt 
een V-vormig metaal (draaibeugel) (item 21) uit. Klem 
het uiteinde van de draaibeugel van de bedieningsstang 
(item 16) in het gat in het V-vormige metaal.

3

Voer het andere uiteinde van de bedieningsstang 
(item 16) door het gat aan de achterkant van de 
bedieningshendel (item 18). Zorg ervoor dat u de hendel 
helemaal naar beneden duwt.

4

Draai de bedieningsstang vast.

6

Voordat u de bedieningsstang vastdraait, moet u ervoor 
zorgen dat de toepassingsgaten in de trechter volledig 
open zijn en de bedieningshendel op 20 staat.

5

Winterschuif

Zomerschuif

NL



9

Het monteren van uw Cresco 20 | Hoe de Cresco-schuiven te verwisselen

De slider moet stevig zitten en waterpas onder de 
trechter zitten. Hij moet soepel in en uit de groeven 
glijden.

5

Wanneer u de slider (20 of 23) hebt verwijderd die u 
niet meer wilt gebruiken, zoekt u de alternatieve slider 
en duwt u deze in de groeven aan de onderkant van de 
trechter (17). (Hier is de Summer Slider afgebeeld).

4

Duw het onderste uiteinde van de draaistang (22) in het 
gat aan de bovenkant van de schuif en zet vast met de 
R-pin (24).

6

Duw de bovenkant van de draaibeugel (21) zodat de 
slider (20 of 23) naar achteren wordt geduwd en de 
draaistang (22) loskomt.

2

Verwijder de draaistang (22) door de punt door het gat 
aan de bovenkant van de slider te duwen. Wanneer de 
draaistang is verwijderd, verwijdert u de slider (20 of 
23).

3

Lokaliseer de R-pin die helpt de schuif op zijn plaats te 
houden aan de onderkant van de schuif. Verwijder de 
R-pin (24).

1



10

Montando seu Cresco 20

Alinhe os orifícios na parte inferior do guidão (item 2) 
com os orifícios na parte superior da estrutura inferior 
(item 15). Pode ser necessário puxar as extremidades 
ligeiramente para colocá-las na posição.

Passe o parafuso M6x35 (12) pelo orifício do guidão (item 
2) e da estrutura inferior (item 15). Use a porca borboleta 
M6 (13) para apertar. Repita em ambos os lados.

1 2

Saindo da parte de trás do corpo da tremonha (item 17) 
está um metal em forma de V (suporte de pivô) (item 21). 
Encaixe a extremidade do suporte de pivô da haste de 
controle (item 16) no orifício do metal em forma de V.

3

Passe a outra extremidade da haste de controle (item 
16) pelo orifício na parte de trás da alavanca de controle 
(item 18). Certifique-se de empurrar a alavanca até o 
final.

4

Aperte a haste de controle.

6

Antes de apertar a haste de controle, certifique-se 
de que os orifícios de aplicação na tremonha estejam 
totalmente abertos e a alavanca de controle esteja 
ajustada para 20.

5

Slider de inverno

Slider de verão

P



11

Montando seu Cresco 20 | Como trocar os Controles Deslizantes do Cresco

O deslizador deve estar seguro e nivelado abaixo da 
caçamba. Deve deslizar suavemente para dentro e para 
fora dos bosques.

5

Depois de remover o deslizador (20 ou 23) que já não 
pretende utilizar, encontre o deslizador alternativo e 
empurre-o para as ranhuras na parte inferior do balde 
(17). (O Summer Slider está aqui retratado).

4

Empurre a extremidade inferior da haste articulada (22) 
para o orifício na parte superior do deslizador e fixe com 
o pino R (24).

6

Empurre a parte superior do suporte de articulação (21) 
de modo a que o deslizador (20 ou 23) seja empurrado 
para trás e a haste de articulação (22) seja afrouxada.

2

Remova a haste articulada (22) empurrando a ponta 
através do orifício na parte superior do deslizador. 
Quando a haste de articulação for removida, retire o 
deslizador (20 ou 23).

3

Localize o pino em R que ajuda a manter o controle 
deslizante no lugar na parte inferior do controle 
deslizante. Remova o pino em R (24).

1



12

Montaje de su Cresco 20

Alinee los orificios en la parte inferior del manillar 
(elemento 2) con los orificios en la parte superior del 
marco inferior (elemento 15). Es posible que deba 
separar ligeramente los extremos para colocarlos en 
posición.

Pase el perno M6x35 (12) a través del orificio del manillar 
(elemento 2) y del marco inferior (elemento 15). Utilice 
la tuerca de mariposa M6 (13) para apretar. Repita en 
ambos lados.

1 2

Desde la parte trasera del cuerpo de la tolva (elemento 
17) sobresale un metal en forma de V (soporte de pivote) 
(elemento 21). Enganche el extremo del soporte de 
pivote de la varilla de control (elemento 16) en el orificio 
del metal en forma de V.

3

Pase el otro extremo de la varilla de control (elemento 
16) a través del orificio en la parte trasera de la palanca 
de control (elemento 18). Asegúrese de empujar la 
palanca hasta el fondo.

4

Apriete la varilla de control.

85

Control Deslizante 
de Invierno

Control Deslizante
de Verano

Antes de apretar la varilla de control, asegúrese 
de que los orificios de aplicación en la tolva estén 
completamente abiertos y la palanca de control esté 
ajustada en 20.

E



13

Montaje de su Cresco 20 | Cómo cambiar los Controles Deslizantes de Cresco

El deslizador debe estar seguro y nivelado debajo de la 
tolva. Debe deslizarse suavemente hacia adentro y hacia 
afuera de las ranuras.

5

Cuando haya quitado el control deslizante (20 o 23) 
que ya no desea utilizar, busque el control deslizante 
alternativo y empújelo hacia las ranuras en la parte 
inferior de la tolva (17). (El control deslizante de verano 
se muestra aquí).

4

Empuje el extremo inferior de la varilla pivotante (22) en 
el orificio en la parte superior del deslizador y asegúrelo 
con el pasador en forma de R (24).

6

Empuje la parte superior del soporte pivote (21) de modo 
que el control deslizante (20 o 23) se empuje hacia atrás 
y la varilla pivote (22) se afloje.

2

Retire la varilla pivote (22) empujando la punta a través 
del orificio en la parte superior del control deslizante. 
Cuando se haya quitado la varilla pivote, retire el control 
deslizante (20 o 23).

3

Localice el pasador en R que ayuda a mantener el 
control deslizante en su lugar en la parte inferior del 
control deslizante. Retire el pasador en R (24).

1



14

Assemblaggio del tuo Cresco 20

Allinea i fori nella parte inferiore del manubrio (articolo 
2) con i fori nella parte superiore del telaio inferiore 
(articolo 15). Potrebbe essere necessario tirare 
leggermente le estremità per metterle in posizione.

Infila il bullone M6x35 (12) attraverso il foro del manubrio 
(articolo 2) e del telaio inferiore (articolo 15). Usa il dado 
ad alette M6 (13) per stringere. Ripeti su entrambi i lati.

1 2

Dalla parte posteriore del corpo della tramoggia 
(articolo 17) sporge un metallo a forma di V (supporto 
perno) (articolo 21). Aggancia l’estremità del supporto 
perno dell’asta di controllo (articolo 16) nel foro del 
metallo a forma di V.

3

Inserisci l’altra estremità dell’asta di controllo (articolo 
16) attraverso il foro nella parte posteriore della leva di 
controllo (articolo 18). Assicurati di spingere la leva fino 
in fondo.

4

Stringi l’asta di controllo.

6

Prima di stringere l’asta di controllo, assicurati che i fori 
di applicazione nella tramoggia siano completamente 
aperti e la leva di controllo sia impostata su 20.

5

Cursore Invernale

Cursore Estivo

I



15

Assemblaggio del tuo Cresco 20 | Come cambiare i Cursori del Cresco

Il cursore deve essere fissato e posizionato a livello 
sotto la tramoggia. Dovrebbe scorrere senza problemi 
dentro e fuori dalle scanalature.

5

Dopo aver rimosso il cursore (20 o 23) che non si 
desidera più utilizzare, trovare il cursore alternativo e 
spingerlo nelle scanalature sul fondo della tramoggia 
(17). (Qui è raffigurato il cursore estivo).

4

Spingere l’estremità inferiore dell’asta del perno (22) nel 
foro nella parte superiore del cursore e fissare con il 
perno a R (24).

6

Empuje la parte superior del soporte pivote (21) de modo 
que el control deslizante (20 o 23) se empuje hacia atrás 
y la varilla pivote (22) se afloje.

2

Rimuovi l’asta perno (22) spingendo la punta attraverso 
il foro nella parte superiore del cursore. Una volta 
rimossa l’asta perno, rimuovi il cursore (20 o 23).

3

Individua il perno a R che aiuta a tenere il cursore in 
posizione nella parte inferiore del cursore. Rimuovi il 
perno a R (24).

1



16

Cresco 20 kokoaminen

Kohdista ohjaustangon (kohta 2) alaosan reiät alaosan 
rungon (kohta 15) yläosassa olevien reikien kanssa. 
Saatat joutua vetämään päitä hieman erilleen, jotta ne 
asettuvat paikoilleen.

Pujota M6x35-pultti (12) ohjaustangon (kohta 2) ja 
alaosan rungon (kohta 15) reiän läpi. Kiristä M6-
siipimutterilla (13). Toista molemmilla puolilla.

1 2

Sirottimen rungon takaosasta (kohta 17) ulkonee 
V-muotoinen metalli (kääntökiinnike) (kohta 21). 
Kiinnitä ohjaustangon (kohta 16) kääntökiinnikkeen pää 
V-muotoisen metallin reikään.

3

Syötä ohjaustangon (kohta 16) toinen pää ohjausvivun 
(kohta 18) takana olevan reiän läpi. Varmista, että 
työnnät vivun aivan pohjaan asti.

4

Kiristä ohjaustanko.

6

Ennen kuin kiristät ohjaustangon, varmista, että 
sirottimen reiät ovat täysin auki ja ohjausvipu on 
asetettu kohtaan 20.

5

Talviliukusäädin

Kesäliukusäädin

FIN



17

Cresco 20 kokoaminen | Cresco-liukusäätimien vaihtaminen

Il cursore deve essere fissato e posizionato a livello 
sotto la tramoggia. Dovrebbe scorrere senza problemi 
dentro e fuori dalle scanalature.

5

Dopo aver rimosso il cursore (20 o 23) che non si 
desidera più utilizzare, trovare il cursore alternativo e 
spingerlo nelle scanalature sul fondo della tramoggia 
(17). (Qui è raffigurato il cursore estivo).

4

Spingere l’estremità inferiore dell’asta del perno (22) nel 
foro nella parte superiore del cursore e fissare con il 
perno a R (24).

6

Empuje la parte superior del soporte pivote (21) de modo 
que el control deslizante (20 o 23) se empuje hacia atrás 
y la varilla pivote (22) se afloje.

2

Rimuovi l’asta perno (22) spingendo la punta attraverso 
il foro nella parte superiore del cursore. Una volta 
rimossa l’asta perno, rimuovi il cursore (20 o 23).

3

Etsi R-tappi, joka pitää liukusäätimen paikoillaan 
liukusäätimen alapuolella. Poista R-tappi (24).

1



18

Montering av din Cresco 20

Rikta hålen längst ner på handtaget (artikel 2) med 
hålen högst upp på den nedre ramen (artikel 15). Du 
kan behöva dra isär ändarna lite för att placera dem i 
position.

Trä M6x35-bulten (12) genom hålet på handtaget 
(artikel 2) och den nedre ramen (artikel 15). Använd M6 
vingmutter (13) för att dra åt. Upprepa på båda sidor.

1 2

Från baksidan av behållarkroppen (artikel 17) sticker 
ett V-format metall (pivotfäste) (artikel 21) ut. Kläm fast 
pivotfästets ände på kontrollstången (artikel 16) i hålet 
på den V-formade metallen.

3

För den andra änden av kontrollstången (artikel 16) 
genom hålet på baksidan av kontrollspaken (artikel 18). 
Se till att du skjuter spaken hela vägen ner.

4

Dra åt kontrollstången.

6

Innan du drar åt kontrollstången, se till att 
applikationshålen i behållaren är helt öppna och 
kontrollspaken är inställd på 20.

5

Vinterskjutreglage

Sommarskjutreglage

S



19

Montering av din Cresco 20 | Hur du byter Cresco-skjutreglagen

Skjutreglaget ska vara säkert och sitta plant under 
behållaren. Det ska glida smidigt in och ut ur spåren.

5

När du har tagit bort skjutreglaget (20 eller 23) som 
du inte längre vill använda, hitta det alternativa 
skjutreglaget och skjut det in i spåren på behållarens 
undersida (17). (Sommarskjutreglaget visas här).

4

Tryck in den nedre änden av pivotstången (22) i hålet 
högst upp på skjutreglaget och säkra med R-stiftet (24).

6

Tryck på toppen av vridfästet (21) så att skjutreglaget 
(20 eller 23) trycks bakåt och vridstången (22) lossas.

2

Ta bort pivotstången (22) genom att trycka spetsen 
genom hålet högst upp på skjutreglaget. När 
pivotstången är borttagen, ta bort skjutreglaget (20 
eller 23).

3

Leta reda på R-stiftet som hjälper till att hålla 
skjutreglaget på plats på undersidan av skjutreglaget. 
Ta bort R-stiftet (24).

1



20

Montering av din Cresco 20

Juster hullene nederst på håndtaket (vare 2) med 
hullene på toppen av den nedre rammen (vare 15). Du må 
kanskje trekke endene litt fra hverandre for å plassere 
dem i posisjon.

Træ M6x35-bolten (12) gjennom hullet på håndtaket 
(vare 2) og den nedre rammen (vare 15). Bruk M6 
vingemutteren (13) til å stramme. Gjenta på begge sider.

1 2

Fra baksiden av beholderkroppen (vare 17) stikker det 
ut en V-formet metall (svingbrakett) (vare 21). Fest 
svingbrakettens ende på kontrollstangen (vare 16) i 
hullet på den V-formede metallen.

3

Før den andre enden av kontrollstangen (vare 16) 
gjennom hullet på baksiden av kontrollspaken (vare 18). 
Sørg for at du skyver spaken helt ned.

4

Stram kontrollstangen.

6

Før du strammer kontrollstangen, sørg for at 
applikasjonshullene i beholderen er helt åpne og 
kontrollspaken er satt til 20.

5

Vinter-skyveknapp

Sommer-skyveknapp 

N



21

Montering av din Cresco 20 | Hvordan bytte Cresco-skyveknappene

Skyveren skal være sikker og sitte vannrett under 
beholderen. Den skal gli jevnt inn og ut av lundene.

5

Når du har fjernet glideren (20 eller 23) du ikke lenger 
ønsker å bruke, finn den alternative skyveren og 
skyv den inn i rillene på bunnen av beholderen (17). 
(Sommerglideren er avbildet her).

4

Skyv den nederste enden av dreiestangen (22) inn i 
hullet på toppen av glideren og fest med R-stiften (24).

6

Skyv toppen av dreiebraketten (21) slik at glideren (20 
eller 23) skyves tilbake og dreiestangen (22) løsnes.

2

Fjern dreiestangen (22) ved å skyve spissen gjennom 
hullet på toppen av glideren. Når dreiestangen er 
fjernet, fjern glideren (20 eller 23).

3

Finn R-pinnen som hjelper til med å holde skyveknappen 
på plass på undersiden av skyveknappen. Fjern R-pinnen 
(24).

1



22

Samling af din Cresco 20

Juster hullerne i bunden af styret (punkt 2) med hullerne 
øverst på den nederste ramme (punkt 15). Du skal måske 
trække enderne lidt fra hinanden for at placere dem på 
plads.

Træd M6x35 bolten (12) gennem hullet i styret (punkt 
2) og den nederste ramme (punkt 15). Brug M6 
vingemøtrikken (13) til at stramme. Gentag på begge 
sider.

1 2

Fra bagsiden af beholderen (punkt 17) stikker en 
V-formet metal (drejebeslag) (punkt 21) ud. Klem 
enden af kontrolstangen (punkt 16) ind i hullet på den 
V-formede metal.

3

Før den anden ende af kontrolstangen (punkt 16) 
gennem hullet på bagsiden af kontrolhåndtaget (punkt 
18). Sørg for, at du trykker håndtaget helt ned.

4

Stram kontrolstangen.

6

Før du strammer kontrolstangen, skal du sørge for, at 
applikationshullerne i beholderen er helt åbne, og at 
kontrolhåndtaget er sat til 20.

5

Vinterskyder

Sommerskyder

DK



23

Samling af din Cresco 20 | Sådan skifter du Cresco-skydere

Skyderen skal være sikker og sidde fladt under 
beholderen. Den skal glide jævnt ind og ud af rillerne.

5

Når du har fjernet skyderen (20 eller 23), som du ikke 
længere ønsker at bruge, finder du den alternative 
skyder og skubber den ind i rillerne på undersiden af 
beholderen (17). (Sommerskyderen er vist her).

4

Tryk den nederste ende af drejestangen (22) ind i hullet 
øverst på skyderen og fastgør med R-stiften (24).

6

Skub toppen af ​​drejebeslaget (21), så skyderen (20 eller 
23) skubbes tilbage, og drejestangen (22) løsnes.

2

Fjern drejestangen (22) ved at skubbe spidsen gennem 
hullet øverst på skyderen. Når drejestangen er fjernet, 
fjern skyderen (20 eller 23).

3

Find R-stiften, der hjælper med at holde skyderen på 
plads på undersiden af skyderen. Fjern R-stiften (24).

1



24

Montáž vášho Cresco 20

Zarovnajte otvory na spodnej strane riadidla (položka 2) 
s otvormi na vrchole spodného rámu (položka 15). Možno 
budete musieť mierne roztiahnuť konce, aby ste ich 
umiestnili na miesto.

Pretiahnite skrutku M6x35 (12) cez otvor na riadidle 
(položka 2) a spodnom ráme (položka 15). Utiahnite 
matkou M6 s krídlami (13). Opakujte na oboch stranách.

1 2

Z chrbta tela násypky (položka 17) vyčnieva V-tvarovaný 
kov (otočný držiak) (položka 21). Zacvaknite otočný 
držiak konca ovládacej tyče (položka 16) do otvoru na 
V-tvarovanom kove.

3

Vsuňte druhý koniec ovládacej tyče (položka 16) cez 
otvor na zadnej strane ovládacej páky (položka 18). 
Uistite sa, že páku stlačíte až na dno.

4

Utiahnite ovládaciu tyč.

6

Predtým, než utiahnete ovládaciu tyč, uistite sa, že 
aplikovacie otvory v násypke sú úplne otvorené a 
ovládacia páka je nastavená na 20.

5

Zimný Posuvník

Letný Posuvník

SK



25

Montáž vášho Cresco 20 | Ako vymeniť posuvníky Cresco

Posuvník by mal byť pevne upevnený a rovný pod 
násypkou. Mal by sa hladko posúvať dovnútra a von z 
drážok.

5

Po odstránení posuvníka (20 alebo 23), ktorý už 
nechcete používať, nájdite alternatívny posuvník a 
vtlačte ho do drážok na spodnej strane násypky (17). (Tu 
je zobrazený Letný Posuvník).

4

Zasunte spodný koniec otočnej tyče (22) do otvoru na 
vrchu posuvníka a upevnite ju R-pinom (24).

6

Zatlačte na hornú časť otočnej konzoly (21), aby sa 
posúvač (20 alebo 23) zatlačil dozadu a otočná tyč (22) 
sa uvoľnila.

2

Odstráňte otočnú tyč (22) pretlačením hrotu cez otvor 
na vrchu posuvníka. Keď je otočná tyč odstránená, 
odstráňte posuvník (20 alebo 23).

3

Nájdite R-pin, ktorý pomáha udržať posuvník na mieste 
na spodnej strane posuvníka. Odstráňte R-pin (24).

1



26

Sestavljanje vašega Cresco 20

Poravnajte luknje na dnu ročaja (točka 2) z luknjami na 
vrhu spodnjega okvirja (točka 15). Morda boste morali 
rahlo raztegniti konce, da jih namestite na mesto.

Navojite vijak M6x35 (12) skozi luknjo na ročaju (točka 
2) in spodnjem okvirju (točka 15). Privijte ga z M6 krilno 
matico (13). Ponovite na obeh straneh.

1 2

Iz zadnjega dela telesa lijaka (točka 17) štrli V-oblikovana 
kovina (vrtljiva spona) (točka 21). Priklopite konec 
krmilne palice (točka 16) v luknjo na V-oblikovani kovini.

3

Vstavite drugi konec krmilne palice (točka 16) skozi 
luknjo na zadnji strani krmilne ročice (točka 18). 
Poskrbite, da ročico potisnete povsem navzdol.

4

Zategnite krmilno palico.

6

Preden zategnete krmilno palico, se prepričajte, da so 
aplikacijske luknje v lijaku popolnoma odprte in da je 
krmilna ročica nastavljena na 20.

5

Zimski Drsnik

Poletni Drsnik

SLO



27

Sestavljanje vašega Cresco 20 | Kako zamenjati drsnike Cresco

Drsnik mora biti varno nameščen in poravnan pod 
lijakom. Gladko se mora premikati v in iz utorov.

5

Ko odstranite drsnik (20 ali 23), ki ga ne želite več 
uporabljati, poiščite nadomestni drsnik in ga potisnite v 
utore na spodnji strani lijaka (17). (Poletni drsnik je tukaj 
prikazan).

4

Vstavite spodnji konec vrtljive palice (22) v luknjo na 
vrhu drsnika in jo pritrdite z zatičem R (24).

6

Potisnite zgornji del vrtljivega nosilca (21), tako da se 
drsnik (20 ali 23) potisne nazaj in vrtljiva palica (22) 
zrahlja.

2

Odstranite vrtljivo palico (22) tako, da jo potisnete skozi 
luknjo na vrhu drsnika. Ko je vrtljiva palica odstranjena, 
odstranite drsnik (20 ali 23).

3

Poiščite zatič R, ki pomaga držati drsnik na mestu na 
spodnji strani drsnika. Odstranite zatič R (24).

1



28

Montaż Twojego Cresco 20

Wyrównaj otwory na dole uchwytu (element 2) z 
otworami na górze dolnej ramy (element 15). Może być 
konieczne lekkie rozsunięcie końców, aby je umieścić.

Przeprowadź śrubę M6x35 (12) przez otwór uchwytu 
(element 2) i dolną ramę (element 15). Użyj nakrętki 
skrzydełkowej M6 (13), aby dokręcić. Powtórz po obu 
stronach.

1 2

Z tyłu korpusu zbiornika (element 17) wystaje metal w 
kształcie litery V (wspornik obrotowy) (element 21). Włóż 
końcówkę pręta kontrolnego (element 16) do otworu w 
metalowym wsporniku w kształcie litery V.

3

Przeprowadź drugi koniec pręta kontrolnego (element 
16) przez otwór z tyłu dźwigni sterującej (element 18). 
Upewnij się, że dźwignia jest całkowicie opuszczona.

4

Dokręć pręt kontrolny.

6

Przed dokręceniem pręta kontrolnego upewnij się, że 
otwory aplikacyjne w zbiorniku są w pełni otwarte, a 
dźwignia sterująca ustawiona na 20.

5

Suwak Zimowy

Suwak Letni

PL



29

Montaż Twojego Cresco 20 | Jak zamienić suwaki Cresco

Suwak powinien być bezpiecznie zamocowany i równo 
siedzieć pod zbiornikiem. Powinien płynnie przesuwać 
się w rowkach i na zewnątrz.

5

Po usunięciu suwaka (20 lub 23), którego nie chcesz już 
używać, znajdź alternatywny suwak i włóż go w rowki na 
dole zbiornika (17). (Tutaj pokazany jest Suwak Letni).

4

Wsuń dolną końcówkę pręta obrotowego (22) w otwór u 
góry suwaka i zabezpiecz ją zawleczką R (24).

6

Pchnij górę uchwytu obrotowego (21), aby suwak (20 
lub 23) został odsunięty do tyłu, a pręt obrotowy (22) 
poluzowany.

2

Usuń pręt obrotowy (22), przesuwając końcówkę przez 
otwór u góry suwaka. Gdy pręt obrotowy zostanie 
usunięty, usuń suwak (20 lub 23).

3

Znajdź zawleczkę R, która pomaga utrzymać suwak na 
miejscu na spodzie suwaka. Usuń zawleczkę R (24).

1



30

Cresco 20 összeszerelése

Igazítsa a fogantyú alsó részén (2. tétel) lévő lyukakat 
az alsó váz (15. tétel) felső részén lévő lyukakkal. Lehet, 
hogy kissé szét kell húznia a végeket, hogy a helyére 
kerüljön.

Húzza át az M6x35 csavart (12) a fogantyú (2. tétel) és 
az alsó váz (15. tétel) lyukán. Az M6 szárnyas anyával (13) 
húzza meg. Ismételje meg mindkét oldalon.

1 2

A tartálytest hátuljáról (17. tétel) egy V alakú fém 
(forgókonzol) (21. tétel) nyúlik ki. Pattintsa be a 
vezérlőrúd (16. tétel) forgókonzolos végét a V alakú 
fémen lévő lyukba.

3

Húzza át a vezérlőrúd (16. tétel) másik végét a vezérlőkar 
(18. tétel) hátulján lévő lyukon. Győződjön meg róla, hogy 
a kart egészen a legaljáig nyomja.

4

Húzza meg a vezérlőrudat.

6

Mielőtt meghúzná a vezérlőrúd csavarját, győződjön meg 
róla, hogy a tartályban lévő alkalmazási lyukak teljesen 
nyitottak, és a vezérlőkar 20-ra van állítva.

5

Téli Csúszka

Nyári Csúszka

H



31

Cresco 20 összeszerelése | Hogyan cserélje ki a Cresco Csúszkákat

A csúszkának biztonságosnak kell lennie, és 
vízszintesen kell állnia a tartály alatt. Simán kell 
mozognia a barázdákban.

5

Miután eltávolította a már nem használt csúszkát (20 
vagy 23), keresse meg az alternatív csúszkát, és nyomja 
be a tartály alján lévő barázdákba (17). (Itt a Nyári 
Csúszka látható).

4

Nyomja be a forgórúd (22) alsó végét a csúszka tetején 
lévő lyukba, és rögzítse az R csappal (24).

6

Nyomja meg a forgócsap (21) tetejét úgy, hogy a 
csúszka (20 vagy 23) visszaszoruljon, és a forgórúd (22) 
meglazuljon.

2

Távolítsa el a forgórudat (22), és nyomja be a végét 
a csúszka tetején lévő lyukba. Amikor a forgórúd 
eltávolításra kerül, távolítsa el a csúszkát (20 vagy 23).

3

Keresse meg az R csapot, amely segít a csúszkát a 
helyén tartani a csúszka alján. Távolítsa el az R csapot 
(24).

1



32

Sestavení Vašeho Cresco 20

Zarovnejte otvory na spodní straně řídítek (položka 2) 
s otvory na horní straně spodního rámu (položka 15). 
Možná budete muset mírně roztáhnout konce, abyste je 
umístili na místo.

Provlékněte šroub M6x35 (12) otvorem v řídítkách 
(položka 2) a spodním rámem (položka 15). K utažení 
použijte matici M6 (13). Opakujte na obou stranách.

1 2

Ze zadní části těla násypky (položka 17) vyčnívá kov 
ve tvaru V (otočný držák) (položka 21). Zasuňte konec 
ovládací tyče (položka 16) do otvoru v kovu ve tvaru V.

3

Druhý konec ovládací tyče (položka 16) protáhněte 
otvorem na zadní straně ovládací páky (položka 18). 
Ujistěte se, že páku posunete až na doraz.

4

Utáhněte ovládací tyč.

6

Před utažením ovládací tyče se ujistěte, že jsou aplikační 
otvory v násypce plně otevřené a ovládací páka je 
nastavena na 20.

5

Zimní Posuvník

Letní Posuvník

CZ



33

Sestavení Vašeho Cresco 20 | Jak vyměnit posuvníky Cresco

Posuvník by měl být bezpečný a sedět rovně pod 
násypkou. Měl by se hladce pohybovat dovnitř a ven z 
drážek.

5

Po odstranění posuvníku (20 nebo 23), který již nechcete 
používat, najděte alternativní posuvník a zasuňte jej do 
drážek na spodní straně násypky (17). (Zde je zobrazen 
Letní Posuvník).

4

Zatlačte spodní konec otočné tyče (22) do otvoru v horní 
části posuvníku a zajistěte R-čepem (24).

6

Zatlačte na horní část otočné konzoly (21) tak, aby se 
jezdec (20 nebo 23) zatlačil zpět a otočná tyč (22) se 
uvolnila.

2

Vyjměte otočnou tyč (22) zasunutím špičky skrz otvor v 
horní části posuvníku. Když je otočná tyč odstraněna, 
vyjměte posuvník (20 nebo 23).

3

Najděte R-čep, který pomáhá držet posuvník na místě na 
spodní straně posuvníku. Odstraňte R-čep (24).

1


